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Statues of human bodies that the ancient Greeks considered most “perfect” embodied many Golden Ratios. It turns out that the “perfect” (to ancient Greeks) human face has a whole flock of Golden Ratios as well.
In this task, you will measure distances on the face of a famous Greek statue (despite its broken nose) by using the instructions on this page. Before you start, notice that near the face on the second page are names for either a location on the face or a length between two places on the face. Lines mark those lengths or locations exactly.
Using your cm/mm ruler and the face picture on the next page, find each measurement below to the nearest millimetre that is tenth of a cm or .1cm (___._ cm). Remember, you are measuring the distance or length between the two locations mentioned. You can use the marking lines to place the ruler for your measurements. Complete the table.
a = Top-of-head to chin = ___ . __ cm
b = Top-of-head to pupil = ___ . __ cm
c = Pupil to nose tip = ___ . __ cm
d = Pupil to lip = ___ . __ cm
e = Width of nose = ___ . __ cm
f = Outside distance between eyes = ___ . __ cm
g = Width of head = ___ . __ cm
h = Hairline to pupil = ___ . __ cm
i = Nose tip to chin = ___ . __ cm
j = Lips to chin = ___ . __ cm
k = Length of lips = ___ . __ cm
I = Nose tip to lips = ___ . __ cm



Now use these letters and go on to the next page to compute ratios with them with your calculator. Remember: the first ratio means divide measurement  by measurement; round your answers to 3 decimal places.
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Studies suggest that Shania Twain may have one of the most beautifully proportioned faces.
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a = Top-of-head to chin = _____cmh = Hairline to pupil = _____cm
i = Nose tip to chin = _____cm
j = Lips to chin = _____cm
k = Length of lips = _____cm
I = Nose tip to lips = _____cm

b = Top-of-head to pupil = _____cm
c = Pupil to nose tip = _____cm
d = Pupil to lip = _____cm
e = Width of nose = _____cm
f = Outside distance between eyes = _____cm
g = Width of head = _____ cm

 


How closely proportioned to the golden ratio is Johnny Depp’s face?
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g = Width of head = _____ cm
h = Hairline to pupil = _____ cm
i = Nose tip to chin = _____ cm
j = Lips to chin = _____ cm
k = Length of lips = _____ cm
I = Nose tip to lips = _____ cm

a = Top-of-head to chin = _____ cm
b = Top-of-head to pupil = _____ cm
c = Pupil to nose tip = _____ cm
d = Pupil to lip = _____ cm
e = Width of nose = _____ cm
f = Outside distance between eyes = _____ cm





Place the measurements for Shania Twain and Johnny Depp here, and calculate the ratios. 

Shania 
   Johnny 
Average ratio = __________
Average ratio = __________














































Take a photo of yourself straight on or find a straight on headshot from a magazine or the internet.  Identify the same ratios to see how closely you (or your chosen picture) match the golden ratio.
Your name here: ____________________
Average ratio = __________





























Final Comments:  Of the three faces you measured (the statue, Shania or Johnny, your photo) who would the Greeks say has the “perfect” face?  Explain.				
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Now, find these ratios to three decimal places,
using your calculator: WIDTH OF HEAD
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Your answers to the aoove ratios should be
near the Golden Rato, 1.618 If you're very

far off on any one of them. recheck both your

measurements and your Galculations
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Statues of human bodies 


that the ancient Greeks 


considered most 


“


perfect


”


 


embodied many 


Golden Ratios. It turns out that the “perfect” (to 


ancient


 


Greeks) human face has a whole 


flock of Golden Ratios as well.


 


In this task, you will measure distances 


on the face of a famous Greek statue (


despite its


 


broken nose) by using the instructions on this page. Before you start, notice that near the 


face on the second page are names for either a location on the face or a 


length between 


two places on the face. Lines mark those lengths or locations exactly.


 


Using your cm/mm ruler and the face picture on the next page, find each measurement 


below to the nearest millimetre that is tenth of a cm or .1cm (___._ cm). Remember, yo


u are 


measuring the distance or length between the two locations mentioned. You can use the 


marking lines to place the ruler for your measurements. 


Complete the


 


table.


 


a = Top


-


of


-


head to chin = ___ . __ cm


 


b = Top


-


of


-


head to pupil = ___ . __ cm


 


c = Pupil t


o nose tip = ___ . __ cm


 


d = Pupil to lip = ___ . __ cm


 


e = Width of nose = ___ . __ cm


 


f = Outside distance between eyes = ___ . __ cm


 


g = Width of head = ___ . __ cm


 


h = Hairline to pupil = ___ . __ cm


 


i = Nose tip to chin = ___ . __ cm


 


j = Lips to chin 


= ___ . __ cm


 


k = Length of lips = ___ . __ cm


 


I = Nose tip to lips = ___ . __ cm


 


Now use these letters and go on to the next page to compute ratios with them with your 


calculator. Remember: the first 


ratio


 


means divide


 


measurement 


 


by


 


measurement


;


 


round


 


your answers to


 


3


 


decimal


 


place


s.
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Statues of human bodies that the ancient Greeks considered most “perfect” embodied many 

Golden Ratios. It turns out that the “perfect” (to ancient Greeks) human face has a whole 

flock of Golden Ratios as well. 

In this task, you will measure distances on the face of a famous Greek statue (despite its 

broken nose) by using the instructions on this page. Before you start, notice that near the 

face on the second page are names for either a location on the face or a length between 

two places on the face. Lines mark those lengths or locations exactly. 

Using your cm/mm ruler and the face picture on the next page, find each measurement 

below to the nearest millimetre that is tenth of a cm or .1cm (___._ cm). Remember, you are 

measuring the distance or length between the two locations mentioned. You can use the 

marking lines to place the ruler for your measurements. Complete the table. 

a = Top-of-head to chin = ___ . __ cm 

b = Top-of-head to pupil = ___ . __ cm 

c = Pupil to nose tip = ___ . __ cm 

d = Pupil to lip = ___ . __ cm 

e = Width of nose = ___ . __ cm 

f = Outside distance between eyes = ___ . __ cm 

g = Width of head = ___ . __ cm 

h = Hairline to pupil = ___ . __ cm 

i = Nose tip to chin = ___ . __ cm 

j = Lips to chin = ___ . __ cm 

k = Length of lips = ___ . __ cm 

I = Nose tip to lips = ___ . __ cm 

Now use these letters and go on to the next page to compute ratios with them with your 

calculator. Remember: the first ratio  means divide measurement  by measurement ; 

round your answers to 3 decimal places. 

 

